
  

 

lsV&lsV&lsV&lsV&II    

MODEL QUESTION PAPER 
    

Hkwxksy Geography 
Okkf"kZd baVjehfM,V ijh{kk&2021  

Time Allowed : 3 Hours                             Full Marks -70  
 

Candidates are required to give  their answers in their  own words as far as possible. 

ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 
 

All questions are compulsory lHkh iz’u vfuok;Z gSA 
The candidates are required to write Group number and question number both with 

every answer. 
ijh{kkFkhZ izR;sd mÙkj ds lkFk [k.M la[;k vkSj iz’u la[;k vo’; fy[ksaA  

 

General Instructions : lkekU; funsZ’klkekU; funsZ’klkekU; funsZ’klkekU; funsZ’k 
(i) Q. Nos. 1 to 20 are Multiple choice/objective Type (each of 1 mark) 

iz'u la[;k 1 ls 20 rd cgqfodYih;@oLrqfu"B iz’u izR;sd 1 vad dk gSA  

(ii) Q. Nos.21 to 27  are very short Answer (VSA) Type (Fill up the blanks). Each of 1 Marks 

iz'u la[;k 21 ls 27 rd vfr y?kqmÙkjh; iz’u ¼[kkyh LFkkuksa dks Hkjsa½ izR;sd 1 
vad dk gSA 

(iii) Q. Nos.28 to 34 are very short Answer (VSA) Type each of 2 Marks.  

iz'u la[;k 28 ls 34 rd vfr y?kqmÙkjh; iz’u izR;sd 2 vad dk gSA  

(iv) Q. Nos. 35 to 39 are short Answer Type each of 3 marks.  

iz'u la[;k 35 ls 39 rd y?kq mÙkjh; iz’u izR;sd 3 vad gSA   

(v)   Q. Nos. 40 to 41 are Long Answer Type each of 7 Marks.   

iz'u la[;k 40 ls 41 nh?kZ mÙkjh; iz’u ¼izR;sd  iz’u 7 vad dk½ gSaA 
  

 

Group A [k.M&v[k.M&v[k.M&v[k.M&v  
 (Multiple choice/objective Type question) ¼cgqfodYih;@oLrqfu"B iz’u½¼cgqfodYih;@oLrqfu"B iz’u½¼cgqfodYih;@oLrqfu"B iz’u½¼cgqfodYih;@oLrqfu"B iz’u½    

Choose the correct answer lgh mÙkj dk pquko djsa         lgh mÙkj dk pquko djsa         lgh mÙkj dk pquko djsa         lgh mÙkj dk pquko djsa                     1111×22220000=22220000    
 

1- fdlus ^lEHkokn^ 'kCn dk iz;ksx loZizFke fd;k\ 
Who first coined the term ‘possibilism’ ?  

1 

 (A) ywfl;u Qsczs Lucien Febvre  (B) fxzfQFk Vsyj Griffith Taylor  

(C) ÝsMfjd jSVtsy Frederick 

Ratzel 

(D) gfVaxVu Huntington  

 

 

2- fuEufyf[kr esa dkSu&lk ,d v/kkfRod [kfut gS\ 
Which one of the following is a non-metallic minerals ?  

1 

 (A) pwuk iRFkj Limestone  (B) eSaxuht Maganese  

(C) rkack copper  (D) yksgk Iron  
 

 

3- fdl egk}hi esa tula[;k o`f)&nj fuEure gS\ 
The continent that has the lowest growth-rate of population.  

1 

 (A) vÝhdk Africa  (B) nf{k.k&vesfjdk South America  

(C) ,f’k;k Asia  (D) ;wjksi Europe  
 

 



4- fuEufyf[kr esa ls mPp xq.koÙkk okyh ykSg&v;Ld dkSu&lk gS\ 
Which of the following is the best quality of Iron-ore.  

1 

 (A) gSesVkbM Hematite  (B) flMsjkbV Siderite  

(C) eSXusVkbV Magnetite  (D) fyeksukbV Limonite  
 

 

 

5- fofuekZ.k m|ksx fdl fØ;kdyki ls lacaf/kr gS\ 
Manufacturing Industry is considered in which activities.  

1 

 (A) izkFkfed Primary  (B) f}rh;d Secondary  

(C) r`rh;d Tertiary  (D) prqFkZd Quaternary  
 

 

 

6- fuEufyf[kr esa ls dkSu&lh ,f’k;k dh fo’kkyre efyu cLrh gS\ 
Which of the following place is the Asia’s largest slum ?  

1 

 (A) /kkjkoh Dharavi  (B) rkypsj Talcher  

(C) >kcqvk Jhabua  (D) ekfge Mahim  
 

 

7- Hkkjr esa efgykvksa ds izokl dk ,d izeq[k dkj.k D;k gS\  
What are the main reason behind female migration in India  

1 

 (A) 'kknh Marriage  (B) f'k{kk Education  

(C) LokLF; Health  (D) ukSdjh Job  
 

 

8- e`nk vijnu dk eq[; dkj.k gS& Main causes of soil-erosion are - 1 

 (A) ou fouk’k Deforestation  (B) i'kqpkj.k Overgrazing  

(C) [kuu Mining  (D) mijksDr lHkh All of the above  
 

 

9- fuEufyf[kr esa ls fdl [kfut ds fy, dksMjek ¼>kj[k.M½ izfl) gSA  
Which of the following mineral made the Koderma (Jharkhand) famous ?  

1 

 (A) ykSg&v;Ld Iron-ore  (B) rk¡ck Copper  

(C) vHkzd Mica  (D) ckWDlkbM Bauxite  
 

 

10- fuEufyf[kr esa ls dkSu&lk vEy&o"kkZ dk ,d dkj.k gS\ 

Which of the following is the cause of acid rain ?  

1 

 (A) ty&iznw"k.k Water pollution  (B) Hkwfe iznw"k.k Land pollution  

(C) /ofu iznw"k.k Noise pollution  (D) ok;q&iznw"k.k Air pollution  
 

 

11- ^:dks vkSj tkvks fu’p;okn^ ladYiuk fdlds }kjk nh x;h\ 
Who gave the concept of ‘Stop and Go Determinism’ ?  

1 

 (A) bjsVksLFkuht Eratosthenes  (B) fxzfQFk Vsyj Griffith Taylor  

(C) ÝsMfjd jSVtsy Frederick Ratzel  (D) dqekjh ,yu lsEiy Miss Ellen Sample  
 

 

12- ekuo fodkl dh vo/kkj.kk fdl fo}ku dh nsu gS\ 
The human development concept is developed by-  

1 

 (A) MkW0 egcwc&my&gd 
Dr. Mahbul-ul-Haq  

(B) izks0 veR;Z lsu Pro. Amartya Sen  

(C) ÝsMfjd jSVtst Frederick Ratzel   (D) dqekjh ,yu lsEiy  
Miss Ellen Sample   

 

 



13- fMxcksbZ rsy {ks= fLFkr gS& Digboi oil field is situated in- 1 

 (A) xqtjkr esa Gujarat  (B) vle esa Assam  

(C) egkjk"Vª esa Maharastra  (D) if'pe caxky esa West Bengal  
 

 

14- fdl [kfut dks ^rjy lksuk^ Hkh dgk tkrk gS\ 
Which mineral is also known as ‘liquid gold’?  

1 

 (A) ty Water  (B) isVªksfy;e Petroleum  

(C) dks;yk Coal  (D) ikjk Mercury  
 

 

15- m|ksx ftudk izcU/ku ljdkj ds gkFkksa esa jgrk gS] dgykrk gS&  
The industry which is managed by Government is known as -  

1 

 (A) futh {ks= ds m|ksx Private 

Sector  

(B) lkoZtfud {ks= ds m|ksx Public 

Sector  
(C) la;qDr {ks= ds m|ksx Joint 

Sector  

(D) lgdkfjrk {ks= ds m|ksx 
Cooperative Sector  
 
 

 

 

16- fuEufyf[kr esa ls dkSu&lk ,d dqVhj&m|ksx dk mnkgj.k gS\ 
Which one of the following is an example for cottage Industry ?   

1 

 (A) jfLl;k¡ cukuk Rope making  (B) diM+k rS;kj djuk Garments  
(C) lkcqu cukuk Soap making   (D) jlk;u Chemical  

 
 

 

 

17- fuEufyf[kr esa fdl ns’k dk mPpre ekuo fodkl lwpdkad gS\ 
Name the country having highest human development Index.  

1 

 (A) ukWosZ Norway  (B) Hkkjr India  
(C) Ýkal France  (D) tkiku Japan  

 
 

 

18- 'kksj gS & Noise is - 1 

 (A) vokafNr vkokt an unwanted sound (B) Øks/k djuk an irritant  
(C) ruko dk lzksr a source of stress (D) mijksDr esa lHkh All of the above  

 

 

19- 2011 dh tux.kuk ds vuqlkj Hkkjr dk lk{kjrk nj D;k gS\ 
What is the literacy rate of India on the basis of census 2011 ?  

1 

 (A) 74% (B) 66% 

(C) 92% (D) 82% 
 

 

20- dkSu&lk jkT; ykSg&v;Ld esa lcls /kuh gS\ 
Which state is Rich in iron-ore in India ?  

1 

 (A) vksfM+lk Odisa  (B) >kj[k.M Jharkhand  

(C) if'pe&caxky West-Bengal  (D) NÙkhlx<+ Chhattisgarh  
 

 

 

 
 

 

GROUP-B/[k.M&[k.M&[k.M&[k.M&cccc    
                                                      Fill up the blanks                                       1111×7777=7777 

fjDr LFkkuksa dh iwfrZ 
     

 

 izR;sd iz’u ds fy, dks"Bd esa fn, x;s ,d lgh mÙkj ls [kkyh txgksa dks HkjsA  

Fill up the blanks with one correct answer given in the brackets against each question.  

 



21- f'kdkj vkSj laxzg -------------- fØ;k gSA Hunting and Gathering is ………. activities. 

                                           ¼izkFkfed@f}rh; Primary/Secondary½ 

1 

22- --------------- cfLr;k¡ lM+d] unh ;k ugj ds fdukjs fodflr gksrh gSA  
Settlement develops along either side of roads, rivers or canals are ………….  

                                              ¼o`Ùkkdkj@js[kh; Circular/Linear½ 

1 

23- ------------- vuohdj.kh; ÅtkZ ls lzksr dk mnkgj.k gSA  
Example of non-renewable energy resource are ………….  

                                ¼dks;yk@gok Coal/ Wind½ 

1 

24- ^^ekuo Hkwry dh mit gS”A fdlus dgk -----------------  
“Man is a product of earth’s surface”, This statement was made by ……………. 

                            ¼,ysu pfpZy lsEiy@gEcksYV Ellen Churchil Sample/ Humboldth½ 
 

1 

25- Hkkjr esa] LFkkukarfjr d`f"k dks ------------- ds uke ls Hkh tkuk tkrk gSA  
In India, shifting cultivation is locally known as ………….  

                                   ¼>we d`f"k@xgu d`f"k Jhum cultivation/ Intensive Cultication½ 
 

1 

26- cq'keSu tutkfr lewg dgk¡ ik, tkrs gS\ 
Where is sthe Bushmen indigenous people found …………… ?  

                                      ¼vfÝdk@,f’k;k Africa/Asia½ 
 

1 

27- ---------------- mÙke fdLe dk dPpk yksgk gSA ………. is the best quality of Iron-ore 

                                ¼eSXusVkbV@gsekVkbV Magnetite/ Hematite½ 
 

1 

 
 

GROUP-C/[k.M&[k.M&[k.M&[k.M&llll    
                                 (Very Short Answer Type question)                      2222×7777=14141414 

vfr y?kqmÙkjh; iz’u 
fuEu iz’uksa ds mÙkj nsaA Answer the following questions.  

     

 

28- tula[;k ?kuRo dks ifjHkkf"kr dhft,A Define the term Density of population ?  
 

2 

29- uxjh; vf/kokl dk D;k vFkZ gS\ What is the meaning of ‘Urban settlements’ ?  
 

2 

30- dqVhj m|ksx D;k gS\ What is the household Industry ?  
 

2 

31- flapkbZ ds dksbZ Hkh nks Qk;ns crkb,A Describe any two advantages of Irrigation ?  
 

2 

32- dksbZ Hkh nks vuohdj.kh; lalk/kuksa ds uke fy[ksaA  
Write the names of any two non-renewable resources.  
 

2 

33- dks;ys ds pkj izeq[k izdkj dkSu&ls gSA What are the four major types of Coal? 
 

2 

34- ekuo fØ;kdyki ls vki D;k le>rs gSa\  

What do you understand by Human activities.  
 

2 

 GROUP-D/[k.M&n[k.M&n[k.M&n[k.M&n    
                                           (Short Answer Type question)                                3333×5555=15151515 

y?kqmÙkjh; iz’u 
fuEu iz’uksa ds mÙkj nsaA Answer the following questions.     

 



35- Ms;jh d`f"k dh dksbZ rhu fo’ks"krkvksa dk o.kZu dhft,A  
Explain any three characteristics of Dairy farming ?  
 

3 

36- tula[;k ifjorZu ds rhu izeq[k dkjdksa dh O;k[;k djsaA  
Explain the three components of populations Change.  
 

3 

37- ty lalk/kuksa dh deh ds fy, dksbZ rhu mÙkjnk;h dkjdksa dh O;k[;k djsaA  
Explain any three factors responsible for the depletion of water resources.  
 

3 

38- ty&iznw"k.k D;k gSa\ Hkkjr esa ty&iznw"k.k ds dksbZ Hkh nks lzksrksa dk mYys[k 
djsaA  
What is water pollution? Mention any two sources of water pollution in India.  
 

3 

39- o"kkZ ty laj{k.k dh fof/k;k¡ crkb,A  
Describe the methods of conserving water resources.  
 

3 

 GROUP-E/[k.M&[k.M&[k.M&[k.M&bZbZbZbZ    
                                           (Long Answer Type question)                            7777×2222=14141414 

nh?kZ mÙkjh; iz’u 
fuEu iz’uksa ds mÙkj nsaA Answer the following questions.  

    

 

40- Hkkjr esa [kfutksa ds forj.k dh O;k[;k djsaA  
Explain the distribution of minerals in India?  

7 

 OR/vFkokvFkokvFkokvFkok     

 izokl dk D;k vFkZ gS\ fofHkUu izdkj ds izokl dk mYys[k dhft,A  
What is meant by migration? Explain the various types of migration.  
 

 

41- iznÙk lalkj ds ekufp= esa fuEufyf[kr dks fn[kkb,A 
Show the following in the map of world provided ?  

7 

 (a) phu China  (e) if'pe caxky West-Bengal 

(b) :l Russia  (f) Jhyadk Sri Lanka  

(c) yanu London  (g) vka/kz egklkxj Atlantic Ocean 

(d) vkWLVªsfy;k Australia    
 

 

 


